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Addition (Horizontal)

Name:

Solve each problem.

1) 759+ 290 =

2) 89+ 14=

3) 7,979 + 6,501 =

4) 925+ 481 =

5 8860+ 62=

6) 49+5=

7) 90+58=

8) 206+ 77 =

9 80+12=

10) 5073+ 457 =

11) 550+ 72 =

12) 377+ 287 =

13) 487+50=

14) 96+9=

15) 4,935 + 2,495 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal) Name: Answer Key

Solve each problem. Answers
1) 759+290= 1,049
1 1,049
2) 89+14= 103 ” 103
3 7979+6,501= 14,480 3. _ 14,480
4 1,406
4) 0925+481= 1,406
5 8,922
5 8860+62= 8922 . 54
6) 49+5= 54 ! 148
8 283
7) 90+58= 148
o 92
8 206+ 77= 283 10. 5,530
9 80+12= 92 w022
12 664
10) 5073+457= 5,530
13, 537
11) 550+ 72= 622 n 105
7,430
12) 377+287= 664 15
13) 487+50= 537
14) 96+9= 105
15) 4935+2495= 7,430
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ﬂh Addition (Horizontal)

Name:

Solve each problem.

Answers

[[

5,530 148 103
1,049 92 1,406

8,922
283

54
14.480 L

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

759 + 290 =

89+ 14 =

7,979 + 6,501 =

925+ 481 =

8,860 + 62 =

49+5=

90 + 58 =

206 + 77 =

80+12=

5,073+ 457 =

10.
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